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Q.2
A Vernier has main scale with least count of 1 mm and a Vernier scale
with 10 divisions. If the 4th division of Vernier scale aligns with main
scale reading after 30 mm mark, what is the precise measurement.
a) 30.20 mm
b) 30.40 mm
¢) 30.24 mm
d) 30.14 mm
Ans X 1.a
o 2.
X 3.c
X 4.d
Question ID : 8199736215
Option 1 ID : 81997324213
Option 2 ID : 81997324214
Option 3 ID : 81997324215
Option 4 ID : 81997324216
Status : Answered
Chosen Option : 2
Q.3
e T 25+0935/-9925mm §, 79 HEAT §
a) 0.035mm
b) 0.025mm
¢) 0.0Tmm
d) 0.06mm
Ans X 1.a
X 2.b
K 3.c
o 4.d
Question ID : 8199736230
Option 1 ID : 81997324273
Option 2 ID : 81997324274
Option 3 ID : 81997324275
Option 4 ID : 81997324276
Status : Answered
Chosen Option : 1
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Q4
Rippling in gear teeth is caused mainly due to
a) Insufficient lubrication
b) Foreign material in the lubrication
c) Overload
d) Cyclic loads under high contact stresses
Ans X 1.a
X 2.b
K 3.c
o 4.d
Question ID : 8199736201
Option 11D : 81997324157
Option 2 ID : 81997324158
Option 3 ID : 81997324159
Option 4 ID : 81997324160
Status : Answered
Chosen Option : 4
Q.5
6 3T & TP UfeRIUS P 4T | T SaRH § SIST oIl €, 5el 2 3%
4 3 & <) YfeRIYS FHHIR ©U 4 93 81 gfe ¥ ulvuy & die e 6
diee 8, ot feat fagya &1 yarg gam
a) 0.82 Amp
b) 1.87 Amp
c) 1.58 Amp
d) 2.00 Amp
Ans 1.2
X 2.b
X 3.c
X 4.d
Question ID : 8199736208
Option 1 ID : 81997324185
Option 2 ID : 81997324186
Option 3 ID : 81997324187
Option 4 ID : 81997324188
Status : Not Answered
Chosen Option : --
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Q.6
40 cm, 50 cm and 30 cm Hmaﬁm-ﬁﬁwm@zwaﬁfmﬁ
gifersT st @ arTa et gRft? giferst = &Y a3 Rs. 2 7T 100 em?
gl
a) Rs. 72
b) Rs. 36
¢) Rs. 48
d) Rs. 24
Ans X 1.a
X 2.b
X 3.c
& 4.d
Question ID : 8199736210
Option 1 ID : 81997324193
Option 2 ID : 81997324194
Option 3 ID : 81997324195
Option 4 ID : 81997324196
Status : Not Answered
Chosen Option : --
Q.7
----------------- is an example of transition fit
a) Running fit
b) Expansion fit
c) Wringing fit
d) Shrinkage fit
Ans X 1.a
X 2.b
o 3.C
X 4.d
Question ID : 8199736214
Option 1 ID : 81997324209
Option 2 ID : 81997324210
Option 3 ID : 81997324211
Option 4 ID : 81997324212
Status : Answered
Chosen Option : 1
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Q.8
Point out the unsafe workshop practice among the following
a) Avoid walking under suspended loads
b) Avoid touching the electrical equipment with wet hands
c) Take measurements before stopping the machine
d) Replace worn out or damaged tools immediately
Ans X 1.a
X 2.b
o 3.C
X 4.d
Question ID : 8199736222
Option 1 ID : 81997324241
Option 2 ID : 81997324242
Option 3 ID : 81997324243
Option 4 ID : 81997324244
Status : Answered
Chosen Option : 3
Q.9
80 fr. 7t /e AT | 9 38 PR T 60 Vs A T O U @y wmar g1
PR GRI ATYT a1 a7 sratie a1 we famm ghm?
a) 0.37 meter/second?
b) 1.33 meter/second?
c) 0.33 meter/second?
d) 1.37 meter/second?
Ans 1.2
X 2.b
K 3.c
X 4.d
Question ID : 8199736203
Option 1 ID : 81997324165
Option 2 ID : 81997324166
Option 3 ID : 81997324167
Option 4 ID : 81997324168
Status : Not Answered
Chosen Option : --
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Q.10
Drill size for a reamed hole is:
a) Drill size = Reamed size — (Undersize + Oversize)
b) Drill size = Reamed size + (Undersize + Oversize)
c) Drill size = Reamed size — (Undersize - Oversize)
d) Drill size = Reamed size + (Undersize - Oversize)
Ans 1.2
X 2.b
K 3.c
& 4.d
Question ID : 8199736176
Option 1 ID : 81997324057
Option 2'ID : 81997324058
Option 3 ID : 81997324059
Option 4 ID : 81997324060
Status : Answered
Chosen Option : 4
Q.11
The opposite sides of the angles 30°,60° and 90°of a triangle are in the
ratio
a) 2:14/3
b) 1:v2:2
o) 14/3:2
d) 122
Ans X 1.a
X 2.b
o 3.C
X 4.d
Question ID : 8199736202
Option 1 ID : 81997324161
Option 2 ID : 81997324162
Option 3 ID : 81997324163
Option 4 ID : 81997324164
Status : Not Answered
Chosen Option : --
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Q.12
T[o1- ¢ T 5.8 ® I 19t Haw a1 | T o B
a) ITAA qUT TXH R HeIH FHla S81d
b) 1= 1 Herw e S
¢) IfHd U1 B fHsfeng Wi
d) Irsg gfed Aean ST Wi
Ans X 1.a
& 2.b
K 3.c
X 4.d
Question ID : 8199736188
Option 11D : 81997324105
Option 2'ID : 81997324106
Option 3 ID : 81997324107
Option 4 ID : 81997324108
Status : Answered
Chosen Option : 4
Q.13
For an interference fit, the difference between the size of the hole and
the shaft before assembly is
a) Zero
b) Negative
¢) Positive
d) None of the above
Ans X 1.a
W 2.
X 3.¢c
X 4.d
Question ID : 8199736179
Option 1 ID : 81997324069
Option 2 ID : 81997324070
Option 3 ID : 81997324071
Option 4 ID : 81997324072
Status : Answered
Chosen Option : 1
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Q.14
frfafEa dae= uftrar # feud fore uliRidma i &t smaxgwar 781 87
a) MAG
b) MIG
o) TIG
d) SMAW
Ans X 1.a
X 2.b
K 3.c
& 4.d
Question ID : 8199736171
Option 1 ID : 81997324037
Option 2'ID : 81997324038
Option 3 ID : 81997324039
Option 4 ID : 81997324040
Status : Answered
Chosen Option : 4
Q.15
Which among the following is not correct for a long arc length?
a) Unstable Arc
b) Causes oxidation of weld metal
c) Higher weld deposition with narrow bead width
d) Poor fusion and penetration
Ans X 1.a
K 2.b
" 3.¢C
X 4.d
Question ID : 8199736170
Option 1 ID : 81997324033
Option 2 ID : 81997324034
Option 3 ID : 81997324035
Option 4 ID : 81997324036
Status : Answered
Chosen Option : 3

https://cdn.digialm.com///per/g01/pub/1258/touchstone/AssessmentQPHTMLMode 1/1258024437/1258024437S2D103/17362426342102551/12521... 8/42



1/9/25, 10:05 AM cdn.digialm.com///per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1/1258024437/1258024437S2D103/17362426342102. ..

Q.16
TUA/AH F AP $ AT T aUT G B B U= B3 g BIH-91 fgd
o sme=t wrT ST @
a) I fomT
b) wie forT
o) dsfam fom
d) aag o
Ans X 1.a
X 2.b
o 3.C
X 4.d
Question ID : 8199736195
Option 1 ID : 81997324133
Option 2 ID : 81997324134
Option 3 ID : 81997324135
Option 4 ID : 81997324136
Status : Not Answered
Chosen Option : --
Q.17
91 BT Ga1d GIAT 3R TIA 3MTUT B TR SUPI ATas fpa-r gim?
a) Jd & 3MIaH &1 2 T
b) Ud & I BT 4 AT
¢) Jd & 3MTIa- &1 Y
d) gd & 3maa & gHH
Ans X 1.a
X 2.b
o 3.C
X 4.d
Question ID : 8199736207
Option 1 ID : 81997324181
Option 2 ID : 81997324182
Option 3 ID : 81997324183
Option 4 ID : 81997324184
Status : Not Answered
Chosen Option : --
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Q.18
e urg St § wATST wETaH o1 r o 82
a) U Tiet 2N 8IS & WER ¥ U1 & THS & el
b) f=iTg gic H Galbx U1 Bl Tiail Ud SHIaTSS Bl Wb H=AT
) W I Al TR UIg IGH IS A UGR P IUB! g Bl g T
d) 4Tg P TRY 3R Y TR0 g
Ans X 1.a
X 2.b
" 3.¢C
X 4.d
Question ID : 8199736157
Option 1 ID : 81997323981
Option 2'ID : 81997323982
Option 3 ID : 81997323983
Option 4 ID : 81997323984
Status : Answered
Chosen Option : 3
Q.19
3P AfeET # 3 TS &1 99 HTHIN AT waTs Hail, Wa:
a) RIS RTTNIT UG TP A PR AR S AH A FI ¢
b) goderS fou quT 8 urg & ol ) BR IR F oare F ot B
¢) Ui¢ saiaers U quT 9 UIg & ol Bi g3, DR AR & o & T 90
2
d) SUgad & ¥ PIs ol |
Ans X 1.a
X 2.b
o 3.C
X 4.d
Question ID : 8199736169
Option 1 ID : 81997324029
Option 2 ID : 81997324030
Option 3 ID : 81997324031
Option 4 ID : 81997324032
Status : Answered
Chosen Option : 3
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Q.20
Centre gauges are used for
a) Checking the job in lathe
b) Checking and setting of tool in lathe
c) Any of the above
d) None of the above
Ans X 1.a
& 2.0
K 3.c
K 4d
Question ID : 8199736184
Option 1 ID : 81997324089
Option 2'ID : 81997324090
Option 3'ID : 81997324091
Option 4 ID : 81997324092
Status : Answered
Chosen Option : 2
Q.21
Heat treatment by which the toughness and shock resistance is induced
in Steel is
a) Annealing
b) Normalising
¢) Tempering
d) Hardening
Ans X 1.a
X 2.b
o 3.C
X 4.d
Question ID : 8199736190
Option 1 ID : 81997324113
Option 2 ID : 81997324114
Option 3 ID : 81997324115
Option 4 ID : 81997324116
Status : Answered
Chosen Option : 4
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Q.22
Carbide cutting tools will have
a) Zero rake angle
b) Positive rake angle
c) Negative rake angle
d) None of these
Ans X 1.a
X 2.b
" 3.¢C
K 4.d
Question ID : 8199736185
Option 1 ID : 81997324093
Option 2'ID : 81997324094
Option 3 ID : 81997324095
Option 4 ID : 81997324096
Status : Answered
Chosen Option : 1
Q.23
Identify the type of seam in sheet metal working shown below
a) Inside Lap Seam
b) But Seam
¢) Sunk Lap Seam
d) Plain Lap
Ans X 1.a
X 2.b
& 3.c
X 4.d
Question ID : 8199736158
Option 1 ID : 81997323985
Option 2 ID : 81997323986
Option 3 ID : 81997323987
Option 4 ID : 81997323988
Status : Answered
Chosen Option : 2
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Q.24
T B way H1 g @
a) @ ]
9 | : @
d)
Ans o 1.2
X 2.b
X 3.c
X 4.d
Question ID : 8199736227
Option 1 ID : 81997324261
Option 2 ID : 81997324262
Option 3 ID : 81997324263
Option 4 ID : 81997324264
Status : Answered
Chosen Option : 3
Q.25
Identify the fit H7j6 from the following
a) Clearance fit
b) Transition fit
) Interference fit
d) none of these
Ans X 1.a
& 2.
X 3.c
X 4.d
Question ID : 8199736229
Option 1 ID : 81997324269
Option 2 ID : 81997324270
Option 3 ID : 81997324271
Option 4 ID : 81997324272
Status : Not Answered
Chosen Option : --
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Q.26
Name the tool used for hole alignment during riveting
a) Rivet Snap
b) Rivet Set
c) Dolly
d) Drift
Ans X 1.a
X 2.b
K 3.c
o 4.d
Question ID : 8199736163
Option 1 ID : 81997324005
Option 2'ID : 81997324006
Option 3 ID : 81997324007
Option 4 ID : 81997324008
Status : Answered
Chosen Option : 1
Q.27
For same cutting speed, larger diameter drills have
a) Lesser rpm
b) Higher rpm
¢) Same rpm
d) None for the above
Ans 1.2
X 2.b
X 3.c
K 4.d
Question ID : 8199736174
Option 11D : 81997324049
Option 2 ID : 81997324050
Option 3 ID : 81997324051
Option 4 ID : 81997324052
Status : Answered
Chosen Option : 2
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Q.28
Rectifier set is used to:
a) Convert A.C. into D.C. welding supply
b) Convert D.C. into A.C. welding supply
c) Stepping up A.C. supply
d) Stepping Down A.C. Supply
Ans 1.2
X 2.b
K 3.c
X 4.d
Question ID : 8199736167
Option 1 ID : 81997324021
Option 2'ID : 81997324022
Option 3 ID : 81997324023
Option 4 ID : 81997324024
Status : Answered
Chosen Option : 2
Q.29
What are the angles for Overcut and Upcut teeth respectively for a
Double Cut File?
a) 70° and 51°
b) 60° and 51°
¢) 51°and 70°
d) 60° and 70°
Ans o 1.2
X 2.b
X 3.¢c
X 4.d
Question ID : 8199736155
Option 1 ID : 81997323973
Option 2 ID : 81997323974
Option 3 ID : 81997323975
Option 4 ID : 81997323976
. Not Attempted and
Status : Marked For Review
Chosen Option : --
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Q.30
Which type of Rivet is used for avoiding projection in assembly?
a) Pan Head Rivet
b) Conical Head Rivet
c) Counter Sunk Rivet
d) Snap Head Rivet
Ans X 1.a
X 2.b
" 3.¢C
X 4.d
Question ID : 8199736160
Option 1 ID : 81997323993
Option 2'ID : 81997323994
Option 3 ID : 81997323995
Option 4 ID : 81997323996
Status : Answered
Chosen Option : 3
Q.31
vt afSmamgff o . gde |
a) [ UfERR - 3=d dieedr
b) 3= TR - 3= diced]
) 3= TR — 71 aieedn
d) =1 ofERR - fA= dieear
Ans X 1.a
K 2.b
" 3.¢C
X 4.d
Question ID : 8199736166
Option 11D : 81997324017
Option 2 ID : 81997324018
Option 3 ID : 81997324019
Option 4 ID : 81997324020
Status : Answered
Chosen Option : 4
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Q.32
Galvanizing is the process in which steel is coated with
a) Copper
b) Tin
c) Zinc
d) Lead
Ans X 1.a
X 2.b
" 3.¢C
& 4.d
Question ID : 8199736191
Option 1 ID : 81997324117
Option 2'ID : 81997324118
Option 3 ID : 81997324119
Option 4 ID : 81997324120
Status : Answered
Chosen Option : 1
Q.33
e P gg T a7 ARMG1 HT 98 91 7 R id W {5y o aredt
I IUNR wihar g
a) PIYNRIAT
b) Sifte
¢) AATggTERST
d) IR F A IS 51
Ans X 1.a
o 2.b
X 3.c
X 4.d
Question ID : 8199736220
Option 1 ID : 81997324233
Option 2 ID : 81997324234
Option 3 ID : 81997324235
Option 4 ID : 81997324236
Status : Answered
Chosen Option : 1

https://cdn.digialm.com///per/g01/pub/1258/touchstone/AssessmentQPHTMLMode 1/1258024437/1258024437S2D103/17362426342102551/1252... 17142



1/9/25, 10:05 AM cdn.digialm.com///per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1/1258024437/1258024437S2D103/17362426342102. ..

Q.34
15 .71, 31 to PR aied T &fdsl Hdg W@ 2| 199 R g &
e gefur 1 U 0.15 B1 Sia B 15 . f@HeT & e fvam &rd #t
TIRTEHAT BHI? (([Hed BT @RV, g = 10 m/s? HF)
a) 406.8 Nm
b) 450.2 Nm
¢) 3375 Nm
d) 100.9 Nm
Ans X 1.a
X 2.b
o 3.C
X 4.d
Question ID : 8199736205
Option 1 ID : 81997324173
Option 2 ID : 81997324174
Option 3 ID : 81997324175
Option 4 ID : 81997324176
. Not Attempted and
Status : Marked For Review
Chosen Option : --
Q.35
What is the accuracy of a Caliper
a) 0.5 mm
b) 0.05 mm
c) Tmm
d) 0.25 mm
Ans 1.2
X 2.b
K 3.c
X 4.d
Question ID : 8199736152
Option 1 ID : 81997323961
Option 2 ID : 81997323962
Option 3 ID : 81997323963
Option 4 ID : 81997323964
Status : Answered
Chosen Option : 2
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Q.36
frafafaa & ¥ o149 A avg &1 7041 AfRean @
a) diar
b) Srgfafrad
¢) TMEA
d) T
Ans X 1.a
K 2.b
" 3.¢C
X 4.d
Question ID : 8199736221
Option 1 1D : 81997324237
Option 2 ID : 81997324238
Option 3'ID : 81997324239
Option 4 ID : 81997324240
Status : Answered
Chosen Option : 2
Q.37
I1g1 Ba- Wia & forg Fraar wifae argar g
a) 852°C
b) 810°C
c) 723°C
d) 680°C
Ans X 1.a
KX 2.b
w 3.C
X4.d
Question ID : 8199736218
Option 1 ID : 81997324225
Option 2 ID : 81997324226
Option 3 ID : 81997324227
Option 4 ID : 81997324228
. Not Attempted and
Status : Marked For Review
Chosen Option : --
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Q.38
Which among the following caste iron types is also called as Ductile cast
iron?
a) Malleable cast iron
b) Nodular cast iron
c) Grey castiron
d) White cast iron
Ans X 1.a
& 2.b
X 3.c
X 4.d
Question ID : 8199736177
Option 1 ID : 81997324061
Option 2 ID : 81997324062
Option 3 ID : 81997324063
Option 4 ID : 81997324064
Status : Answered
Chosen Option : 1
Q.39
The chemical compound used for rust removal from the joint before
soldering is called
a) Slag
b) Flux
c) Primer
d) Etchant
Ans X 1.a
& 2.0
X 3.c
X 4.d
Question ID : 8199736159
Option 1 ID : 81997323989
Option 2 ID : 81997323990
Option 3 ID : 81997323991
Option 4 ID : 81997323992
Status : Answered
Chosen Option : 2
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Q.40
The difference between the maximum limit of size and the minimum
limit of size is called:
a) Deviation
b) Margin
c) Tolerance
d) None of the above
Ans X 1.a
X 2.b
o 3.C
X 4.d
Question ID : 8199736182
Option 1 ID : 81997324081
Option 2 ID : 81997324082
Option 3 ID : 81997324083
Option 4 ID : 81997324084
. Not Attempted and
Status : Marked For Review
Chosen Option : --
Q.41
Which of the following has the highest hardness number?
a) Martensite
b) Tempered Martensite
c) Coarse Pearlite
d) Fine pearlite
Ans 4 1.2
X 2.b
X 3.c
X 4.d
Question ID : 8199736219
Option 1 ID : 81997324229
Option 2 ID : 81997324230
Option 3 ID : 81997324231
Option 4 ID : 81997324232
Status : Answered
Chosen Option : 2
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Q.42
R A IEs ge T & R s g &2
a) e & x (13 ~1.6)
b) f¥de @S x (1.3 ~1.6)
C) de &I x (0.8 ~1.2)
d) Rae e x (0.8 ~1.2)
Ans 1.2
X 2.b
K 3.c
& 4.d
Question ID : 8199736161
Option 1 ID : 81997323997
Option 2'ID : 81997323998
Option 3 ID : 81997323999
Option 4 ID : 81997324000
. Not Attempted and
Status : Marked For Review
Chosen Option : --
Q.43
Which among the following is a "Corrective Maintenance" procedure
a) Scheduled maintenance
b) Breakdown maintenance
¢) Preventive maintenance
d) Predictive maintenance
Ans X 1.a
& 2.b
X 3.¢
X 4.d
Question ID : 8199736198
Option 1 ID : 81997324145
Option 2 ID : 81997324146
Option 3 ID : 81997324147
Option 4 ID : 81997324148
Status : Answered
Chosen Option : 1
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Q.44
@20 Fr.RY. (+0.06/+0.03) 3THR & g1 U7 @20 fA.fr. (+0.05/-0.02)
. smeR & Awe & d=, HUieH & Iurid fA.f. 7 srafie safasor
a) 0.11 mm
b) 0.02 mm
c) 0.01 mm
d) 0.04 mm
Ans X 1.a
o 2.b
X 3.c
X 4.d
Question ID : 8199736216
Option 1 ID : 81997324217
Option 2'ID : 81997324218
Option 3 ID : 81997324219
Option 4 ID : 81997324220
. Not Attempted and
Status : Marked For Review
Chosen Option : --
Q.45
BIESIIS UISY A5 U4 SUS Uch! A Siar-d¢ a1g gaga Ud Uike &
PRI § Hbdl &:
a) ARy
b) YA ST EHT
¢) DI (@rgem)
d) ag-sY
Ans X 1.a
X 20D
o 3.C
X 4.d
Question ID : 8199736199
Option 1 ID : 81997324149
Option 2 ID : 81997324150
Option 3 ID : 81997324151
Option 4 ID : 81997324152
Status : Answered
Chosen Option : 2
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Q.46
et et das & forg ufife 1 & vsRur g Riferter &1 e
Bl g7
a) A
b) AR
c) DIl
d) dten
Ans 1.2
KX 2.b
X 3.c
X 4.d
Question ID : 8199736165
Option 1 ID : 81997324013
Option 2 ID : 81997324014
Option 3 ID : 81997324015
Option 4 ID : 81997324016
Status : Answered
Chosen Option : 1
Q.47
Identify the Pneumatic component symbol given below
a) Pressure gauge
b) Filter
¢) Lubricator
d) Dryer
Ans 1.2
X 2.b
X 3.c
X 4.d
Question ID : 8199736200
Option 1 ID : 81997324153
Option 2 ID : 81997324154
Option 3 ID : 81997324155
Option 4 ID : 81997324156
Status : Answered
Chosen Option : 1
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Q.48
Muntz metal is an alloy of
a) Copper and Zinc
b) Copper and Tin
¢) Copper and Nickel
d) Copper and Lead
Ans 1.2
X 2.b
K 3.c
X 4.d
Question ID : 8199736180
Option 1 ID : 81997324073
Option 2'ID : 81997324074
Option 3 ID : 81997324075
Option 4 ID : 81997324076
Status : Answered
Chosen Option : 1
Q.49
&l & TTY HEUl/ATTEAT T4 I@H & Y A T B PR 3 B
wirar #1 Fed &
a) %ﬁl"'l
b) TafSHT
o gfam
d) ST H ¥ BIS 5l
Ans X 1.a
X 2.b
o 3.C
X 4.d
Question ID : 8199736183
Option 1 ID : 81997324085
Option 2 ID : 81997324086
Option 3 ID : 81997324087
Option 4 ID : 81997324088
. Not Attempted and
Status : Marked For Review
Chosen Option : --
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Q.50
At & forg P g @ s-aradt 18 &2
a) Fiepe gerdr fg Sa= sRare
b) I UG ATl Helg S &
<) = WeIdl g I BT &
d) BIe el &1 wRar & forg fredt e uftrarelt @ 78t w=1 S gepanr
Ans X 1.a
X 2.b
" 3.¢C
X 4.4d
Question ID : 8199736175
Option 1 1D : 81997324053
Option 2'ID : 81997324054
Option 3 ID : 81997324055
Option 4 ID : 81997324056
Status : Answered
Chosen Option : 4

https://cdn.digialm.com///per/g01/pub/1258/touchstone/AssessmentQPHTMLMode 1/1258024437/1258024437S2D103/17362426342102551/1252... 26/42



1/9/25, 10:05 AM cdn.digialm.com///per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1/1258024437/1258024437S2D103/17362426342102. ..

Q.51
What is the name of the highlighted part of the Hammer
a) Face
b) Cheek
¢) Pein
d) Eyehole
Ans X 1.a
& 2.
& 3.c
X 4.d
Question ID : 8199736153
Option 1 ID : 81997323965
Option 2 ID : 81997323966
Option 3 ID : 81997323967
Option 4 ID : 81997323968
Status : Answered
Chosen Option : 2
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Q.52
In zig zag riveting the polygon formation is
a) Triangular
b) Chain
¢) Pentagon
d) Hexagon
Ans 1.2
X 2.b
K 3.c
X 4.d
Question ID : 8199736162
Option.1 ID : 81997324001
Option 2'1D : 81997324002
Option 3 ID : 81997324003
Option 4 ID : 81997324004
Status : Answered
Chosen Option : 2
Q.53
&g w1 Ft Folvar fea-t gt aifge?
a) 55 HRC
b) 20 HRC
c) 34 HRC
d) 64 HRC
Ans X 1.a
X 2.b
K 3.c
o 4.d
Question ID : 8199736212
Option 1 ID : 81997324201
Option 2 ID : 81997324202
Option 3 ID : 81997324203
Option 4 ID : 81997324204
Status : Not Answered
Chosen Option : --
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Q.54
What is the efficiency of a machine, if the effort required to lift a load
of 1000 kg is 400 kg and the velocity ratio is 5?
a) 80%
b) 60%
c) 50%
d) 40%
Ans X 1.a
K 2.b
" 3.¢C
X 4.d
Question ID : 8199736211
Option 1 1D : 81997324197
Option 2 ID : 81997324198
Option 3.ID : 81997324199
Option 4 ID : 81997324200
Status : Answered
Chosen Option : 3
Q.55
UYH YT (First Aid) T ABC ER?IT% ?
a) Airway, Breathing and Circulation
b) Ambulance, Blood Donation & CPR
c) Assistance, Byestanding & Coordination
d) Attention, Balance & Care
Ans 1.2
K 2.b
X 3.c
X 4.d
Question ID : 8199736225
Option 1 ID : 81997324253
Option 2 ID : 81997324254
Option 3 ID : 81997324255
Option 4 ID : 81997324256
Status : Answered
Chosen Option : 1
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Q.56
diee ® q9T9 ol I 96 BT Yol Bl 8, Peaml 8
a) df< &mar
b) WS
) T &mdl
R ERRIESESIL
Ans X 1.a
o 2.b
K 3.c
X 4.d
Question ID : 8199736187
Option 1 ID : 81997324101
Option 2'ID : 81997324102
Option 3 ID : 81997324103
Option 4 ID : 81997324104
Status : Answered
Chosen Option : 3
Q.57
Td e & e
a) fog &1 FF feem g @
b) fog eT S ReaT g e
) ue &1 A fame I
d) A% BT S g @
Ans X 1.a
X 2.b
X 3.c
o 4.d
Question ID : 8199736192
Option 1 ID : 81997324121
Option 2 ID : 81997324122
Option 3 ID : 81997324123
Option 4 ID : 81997324124
. Not Attempted and
Status - Marked For Review
Chosen Option : --
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Q.58
a) MY
b) g I LT HIAAIT T
C) @ g qqés%q
d) sfcrhd TIcS U
Ans X 1.a
& 2.b
K 3.c
X 4.d
Question ID : 8199736178
Option 1 ID : 81997324065
Option 2'ID : 81997324066
Option 3 ID : 81997324067
Option 4 ID : 81997324068
Status : Not Answered
Chosen Option : --
Q.59
Jgyd WA ¥ ygad RiggaRidt fde & R o 3t avg &1 SweT g
a) Rfear=
b) A
c) disr
d) Sfegffas
Ans X 1.a
W 2.
X 3.¢c
X 4.d
Question ID : 8199736164
Option 1 ID : 81997324009
Option 2 ID : 81997324010
Option 3 ID : 81997324011
Option 4 ID : 81997324012
Status : Answered
Chosen Option : 2
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Q.60
at.2mE.v9. ¥ IR <RT ¢ pm A fpfr=r & fore wag sk @
fwion W Vv @
a) 0.05to 0.1
b) 1.6 to 6.3
c) 0.2t0 0.8
d) 12.5t0 25
Ans X 1.a
& 2.b
X 3.¢c
X 4.d
Question ID : 8199736231
Option 1 ID : 81997324277
Option 2 ID : 81997324278
Option 3 ID : 81997324279
Option 4 ID : 81997324280
. Not Attempted and
Status : Marked For Review
Chosen Option : --
Q.61
250 fi. 1. |t Tl wrsa & forw 10 .. Fi warg R fhaa Fe gl
a) 11
b) 15
c) 10
d) 30
Ans X 1.a
X 2.b
" 3.¢C
S 4.d
Question ID : 8199736156
Option 1 ID : 81997323977
Option 2 ID : 81997323978
Option 3 ID : 81997323979
Option 4 ID : 81997323980
. Not Attempted and
Status : Marked For Review
Chosen Option : --
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Q.62
The imaginary circle on which two mating gears seems to be rolling is
called
a) Root circle
b) Tip circle
c) Pitch circle
d) Base circle
Ans X 1.a
X 2b
o 3.C
X 4.d
Question ID : 8199736197
Option 1 ID : 81997324141
Option 2 ID : 81997324142
Option 3 ID : 81997324143
Option 4 ID : 81997324144
Status : Answered
Chosen Option : 1
Q.63
JHI IUSHIV gHTfaar (3i5.5) &
a) U x Sdlqhdl x T[UTddT
b) IATEHT x SREUITT x TOTET
¢) TUTGT x SUSSRIAT x TRTEIA
d) SFREUIAAT x GrRTaddT x Ora
Ans o 1.2
X 2.b
K 3.c
X 4.d
Question ID : 8199736186
Option 1 ID : 81997324097
Option 2 ID : 81997324098
Option 3 ID : 81997324099
Option 4 ID : 81997324100
. Not Attempted and
Status - Marked For Review
Chosen Option : --
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Q.64
qredfa® sars 1 W 81 o o1 w5 3., )1 uiafaftra gee 3 32
a) 1/5
b) 20
c) 1/20
d)5
Ans X 1.a
X 2.b
o 3.C
X 4.d
Question ID : 8199736228
Option 1 ID : 81997324265
Option 2 ID : 81997324266
Option 3 ID : 81997324267
Option 4 ID : 81997324268
Status : Answered
Chosen Option : 1
Q.65
The type of twist drills used for soft metals like aluminium is called
a) General helix drill
b) Slow helix drill
¢) Quick helix drill
d) Medium helix drill
Ans X 1.a
X 2.b
o 3.¢C
X 4.d
Question ID : 8199736172
Option 1 ID : 81997324041
Option 2 ID : 81997324042
Option 3 ID : 81997324043
Option 4 ID : 81997324044
. Not Attempted and
Status : Marked For Review
Chosen Option : --
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Q.66
Higher Tension ratio in a belt causes
a) Belt tightening and breakage
b) Belt loosening and slip
c) No effect on the belt
d) Higher effective pull for transmitting required power
Ans X 1.a
& 2.0
K 3.c
X 4.d
Question ID : 8199736196
Option 1 ID : 81997324137
Option 21D : 81997324138
Option 3 ID : 81997324139
Option 4 ID : 81997324140
Status : Answered
Chosen Option : 1
Q.67
Ife IR UTATd 40 kg/mm? 3R RN PR 2 &, @ 7 Al I & ang
F R | foraa avH &1 YR Qi v J Fefed foean o woar g2
a) 502 kg
b) 770 kg
¢) 650 kg
d) 785 kg
Ans X 1.a
& 2.b
X 3.¢c
X 4.d
Question ID : 8199736209
Option 1 ID : 81997324189
Option 2 ID : 81997324190
Option 3 ID : 81997324191
Option 4 ID : 81997324192
. Not Attempted and
Status : Marked For Review
Chosen Option : --
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Q.68
Which among the following is a Respiratory PPE in safety
a) Ear Muff
b) Nose Mask
c) Gloves
d) Face Shield
Ans X 1.a
o 2.b
X 3.c
X 4.d
Question ID : 8199736223
Option 1 ID : 81997324245
Option 2 ID : 81997324246
Option 3 ID : 81997324247
Option 4 ID : 81997324248
Status : Answered
Chosen Option : 3
Q.69 ) ) )
et et & @i &t Psan 2 1t 8 3R and &t dars 4 W 81 W &
&% d T g2
a) 2m?
b) 4 m?
c) 16 m?
d) 36 m?
Ans X 1.a
& 2.b
X 3.¢c
X 4.d
Question ID : 8199736206
Option 1 ID : 81997324177
Option 2 ID : 81997324178
Option 3 ID : 81997324179
Option 4 ID : 81997324180
Status : Answered
Chosen Option : 2
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Q.70
Which Type of drill is used for drilling normal low carbon steels?
a) Type W
b) Type S
c) Type N
d) Type A
Ans X 1.a
X 2.b
" 3.¢C
X 4.d
Question ID : 8199736173
Option 1 ID : 81997324045
Option 2'ID : 81997324046
Option 3 ID : 81997324047
Option 4 ID : 81997324048
. Not Attempted and
Status : Marked For Review
Chosen Option : --
Q.71
aa amurfa 3, 3fy B B -t Joft A et 32
a) CLASS A
b) CLASS B
c) CLASSC
d) CLASS D
Ans X 1.a
o 2.0
K 3.c
X 4.d
Question ID : 8199736226
Option 1 ID : 81997324257
Option 2 ID : 81997324258
Option 3 ID : 81997324259
Option 4 ID : 81997324260
Status : Answered
Chosen Option : 1
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Q.72
Calorising is the process of coating steel with
a) Lead
b) Zinc powder
c) Tin
d) Aluminium powder
Ans X 1.a
X 2.b
K 3.c
& 4.d
Question ID : 8199736193
Option 1 ID : 81997324125
Option 2'ID : 81997324126
Option 3 ID : 81997324127
Option 4 ID : 81997324128
Status : Answered
Chosen Option : 2
Q.73
The lead - tin based alloy with anti-friction properties, which is used for
making bearings is
a) Bronze
b) Brass
¢) Solder
d) Babbit metal
Ans X 1.a
X 2.b
X 3.¢c
o 4.d
Question ID : 8199736181
Option 1 ID : 81997324077
Option 2 ID : 81997324078
Option 3 ID : 81997324079
Option 4 ID : 81997324080
. Not Attempted and
Status : Marked For Review
Chosen Option : --
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Q.74
1.0 mm pitch for hacksaw blades fall in which among the following
category
a) Fine Pitch
b) Coarse Pitch
c) Very Fine Pitch
d) Medium Pitch
Ans X 1.a
X 2.b
X 3.¢
o 4.d
Question ID : 8199736154
Option 1 ID : 81997323969
Option 2 ID : 81997323970
Option 3 ID : 81997323971
Option 4 ID : 81997323972
. Not Attempted and
Status : Marked For Review
Chosen Option : --
Q.75
St STYfd & YT cfife @ Wi s Aqs gagcts &1 Hgl ol
a) Tl (e gaan
b) gehH Yddi
c) UHE gddl
d) UGE Yddr
Ans X 1.a
& 2.b
X 3.c
X 4.d
Question ID : 8199736168
Option 1 ID : 81997324025
Option 2 ID : 81997324026
Option 3 ID : 81997324027
Option 4 ID : 81997324028
. Not Attempted and
Status : Marked For Review
Chosen Option : --
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Q.76
$ ¢ BT UGN forar Sirar &:
a) Sgfdte dqeil & grem 3 & forg
b) ¢ I Al Us— ¥ A & forw
¢) W7 B & foIe A e & Ty
d) ST H ¥ PIS T8l
Ans 1.2
X 2.b
K 3.c
X 4.d
Question ID : 8199736189
Option 1 ID : 81997324109
Option 2'ID : 81997324110
Option 3 ID : 81997324111
Option 4 ID : 81997324112
Status : Answered
Chosen Option : 1
Q.77
As the percentage of carbon increases in steel its ----------=--------—-
decreases
a) Corrosion resistance
b) Ultimate strength
¢) Hardness
d) Ductility
Ans X 1.a
X 2b
X 3.c
o 4.d
Question ID : 8199736217
Option 1 ID : 81997324221
Option 2 ID : 81997324222
Option 3 ID : 81997324223
Option 4 ID : 81997324224
Status : Answered
Chosen Option : 2
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Q.78
T 3T five A 3gHd (Allowance) UG ATATIG: frae! Tefifa sear g
a) U 3R &g & sitg =gAaw e
b) MU 3R &g & o7 Hfiean e
0) e 3R &% & GaIdl BT 3R
d) T 3R AHfIFHaH HTHR & 85 F o9 3
Ans 1.2
X 2.b
K 3.c
X 4.d
Question ID : 8199736213
Option 1 ID : 81997324205
Option 2 ID : 81997324206
Option 3 ID : 81997324207
Option 4 ID : 81997324208
Status : Answered
Chosen Option : 4
Q.79
PDCA P13 &:
a) PICK, DO, CHOOSE, APPLY
b) PICK, DEAL, CHANGE, ASSURE
) PLAN, DO, CHECK, ACT
d) PLAN, DISCUSS, CHECK, APPLY
Ans X 1.a
X 2.b
" 3.¢C
X 4.d
Question ID : 8199736194
Option 11D : 81997324129
Option 2 ID : 81997324130
Option 3 ID : 81997324131
Option 4 ID : 81997324132
Status : Answered
Chosen Option : 4

https://cdn.digialm.com///per/g01/pub/1258/touchstone/AssessmentQPHTMLMode 1/1258024437/1258024437S2D103/17362426342102551/1252...

41/42



1/9/25, 10:05 AM cdn.digialm.com///per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1/1258024437/1258024437S2D103/17362426342102. ..

Q.80
ot uTg &1 UR gaT ® 150 kof 3R U F 100 kgf 81 T BT g@
eI
a) 1500 kg/m?
b) 3000 kg/m?
¢) 7000 kg/m?
d) 900 kg/m?
Ans X 1.a
& 2.b
X 3.c
X 4.d
Question ID : 8199736204
Option 1 ID : 81997324169
Option 2'ID : 81997324170
Option:3 ID : 81997324171
Option 4 ID : 81997324172
Status : Answered
Chosen Option : 1
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